;> restart
> SolucionGeneral = y(x) = C,-exp(x) + C,-exp(2 x)

SolucionGeneral .= y(x) = C, ¢ + C, "

_> Sistema = diff (SolucionGeneral, x), diff (SolucionGeneral, x$2) : Sistema,; Sistema,;

4 ) =c & +2C,e"

dr
& 2
gy(x)zClex+4C2e *

> Parametro = Solve( {Sistema}, { ,C })

—[jx—Zy( ))+2(%y(x))

Parametro .= |C, = . , Gy = - % 52
L € e
> SolucionGeneral, Parametro; Parametro,
y(x)=C, e+ C, e
2
: (d—zym] 2§
C, =
ex
& d
L [;;;‘y(X)) %-'a;'y(X)
CZ - 5 er

> Ecuacionlnicial = Subs( C,= rhs(Pammetro1 ) , Gy = rhs(Parametroz) , SolucionGeneral )

o 3 d
Ecuacionlnicial == y(x) = - > ? y(x) + 5 de y(x)
> FEcuacionFinal ‘= lhs(Ecuacionlnicial) -2 — rhs(Ecuacionlnicial) -2 =0

e & d ) -
EcuacionFinal =2 y(x) + 02 7 ylx) =3 ( & y(x)) 0

> SolucionOriginal == dsolve( EcuacionFinal)
SolucionOriginal =y(x) = _CI e + C2¢

| > restart

:CAIDA LIBRE DE UNA MONEDA A 2 M DEL SUELO ;A QUE VELOCIDAD CHOCA?
> Ecuacion = diff (y(1), 1$2) = ?2
2
Ecuacion = % y(t) =- 45—9

=> Condiciones == y(0) =2,D(y) (0) =0
Condiciones :=y(0) =2,D(y)(0) =0

_> SolucionParticular = dsolve( { Ecuacion, Condiciones})

SolucionParticular .= y(t) = - % )

0y
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> Tiempo = solve(rhs(SolucionParticular) =0, t); evalf( Tiempoz)

Tiempo:z—%ﬁ,%ﬁ

i 0.6388765648 a1
> Velocidad = subs(t= Tiempo,, rhs(diff (SolucionParticular, t) ) ); evalf (%); evalf (%%) -3.6
Velocidad = - 15—4 5
-6.260990336

-22.53956521 (12)




